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[4069]-301

T.Y. B.Com. EXAMINATION, 2011
BUSINESS REGULATORY FRAMEWORK [M. Law]
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Discuss in brief various modes of Discharge of Contract. [16]

2. Define, explain and distinguish contract of indemnity and

Guarantee. [16]
Or
Elucidate the doctrine of Caveat Emptor. Explain with illustrations

exceptions to the doctrine.

3. (A) Explain Consumer Disputes Redressal Agencies under C.P.A.,
1986. [8]
(B) State the important characteristics of copyrights. [8]

Or
(A) Explain cheque and crossing of cheques. When can Banker
lawfully dishonour cheque ? [8]
(B) What is Arbitration Agreement ? What are its essentials ? [ §]

P.T.O.



4, Define the terms “Holder and Holder in Due Course” and explain
privileges of holder in due course. [16]
5. Write short notes on any fwo : [16]
(a) Essential elements of consideration in contract.
(b) Meaning and functions of Digital signature.
(¢) Unfair and Restrictive Trade Practices under CPA, 1986.
(d) Programs and functions of WIPO.
(TS BUI)
e : o9 A THUT 7T : 80
g :— (i) Wd WA Giefau sfeRds e
(i) ISEhele 3k WA YO U SFifeda
1. &R Taren fafgy geri=t dieda 9=t & [16]
2. THUM WUE HR T SHHERMET TR A=A A 31 W= & A
e AHS Tk TR R [16]
fenar
“"EREIRR WEYH' 9 d@ fRIR w0 9 dEE 3TUA HIRR WK H.
3. (31) UEH W HISl, 1986 UG ‘Uew dHR fERm IFon’ T

EX [8]

TSe<l Heer=l dRT™ | [8]
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ferar
(31) yaRIT MU ¥MRIME IWihd T hU. Sk YARIMET  hIECEI
FMRY hedl HE  ITHA 7 [8]

(9) CIREHET FIR RUS hE 7 IEl dRTS RO ? [8]

4. TAH T Uk A0 Fenfafaenes’ A= e < aAifast aReR
foRTS gFr W *A. [16]

5. dfam G few (PR | M) [16]
(31) e gkt e,
(&) fesites wnafen & oo =d;
(F) s W HEE, 1986 HHd ofaq oo eems =Rl wer;

(T) <Nfaes sifges H9el Goed w%wH o fHan
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[4069]-302

T.Y. B.Com. EXAMINATION, 2011
ADVANCED ACCOUNTING
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.

(zzz1) Use of Calculator is allowed.

1. (A) Answer in one sentence only (any five) : [10]
(i) What are “Non-Banking Assets” ?

(ii) What do you mean by an “Indemnity Period” in case
of Loss of Profit Policy ?

(iit) Accounting standard 7 stands for what ?
(tv) Give the formula to calculate ‘Acid Test Ratio’.

(v)  Closing balance on the debit side of Bank A/c represents
what ?

(vi) Consumption by workers is debited to which account ?
(vit) State the basis of allocation for carriage inward expenses.

(B) Write short notes on any f{wo : [14]
(i) Consequential loss policy.

(i1) Accounting standard 8

P.T.O.



(iiz) Allocation of Expenses in Departmental Account.

(tv) Current Ratio.

(v)  Objectives of Management Accounting.

The Trial Balance of Janseva Bank Ltd. as on 31st March, 2011 :

Particulars Debit Credit

Rs. Rs.

E. Share capital of Rs. 100 each 8,00,000
General Expenses 48,000

Current Accounts 40,40,000
Interest Paid 46,000

Reserve Fund 2,00,000

Fixed Deposits 25,60,000

Savings Bank Account 4,00,000
Cash in Hand 70,000

Interest received 3,20,000
Loans, Cash Credit, Overdrafts 41,20,000
Depreciation on Premises 54,000
Premises 8,62,000
Silver 64,000
Bad Debts 16,000
Cash with R.B.L 4,00,000
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Cash with Other Bank 2,06,000
Gold 78,000
Money at Call and Short Notice 2,00,000
Profit & Loss A/c (1-4-10) 2,40,000
Discount received 60,000
Commission 10,000
Dividend paid 60,000
Investment in Shares 18,80,000
Bills Discounted and Purchased 5,26,000
Recurring Deposits 40,000
Govt. Bonds 40,000

86,70,000 86,70,000

Additional Information :

(D)
(2)
(3)
(4)

(5)

Rebate on bills discounted Rs. 24,000.
Interest accrued on Investment was Rs. 20,000.
Provide Rs. 40,000 for taxation.

Provision for bad and doubtful debts is required amounting
to Rs. 20,000.

Bills for collection Rs. 1,60,000.

Prepare Profit & Loss A/c and Balance Sheet as on 31st March,
2011 as per the Banking Regulation Act with schedules. [14]
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Or

A fire occurred in the godown of ABC Ltd. on 31st March, 2011
destroying the major portion of the stock. The following particulars

were, however available :

Rs.
Stock on 1-1-2010 1,25,600
Stock on 31-12-2010 1,42,400
Sales for the year 2010 4,02,000
Sales from 1-1-2011 to 31-3-2011 1,61,000
Purchases for the year 2010 3,20,000
Purchases from 1-1-2011 to 31-3-2011 50,400

Included in the stock on 31st December 2009 were some spoiled
goods which originally cost Rs. 8,000 but were valued at Rs. 5,600.
Half of this stock was sold for Rs. 2,000 in the year 2010 and
the remaining stock was valued at Rs. 2,400 on 31st December 2010.
Half of this stock was sold for Rs. 1,000 in March, 2011. The unsold
portion was considered to be worth 80% of its original cost. Subject

to this exception the rate of Gross Profit was uniform.

The sum insured was Rs. 60,000. There was an average clause in

the policy. The stock salvage worth Rs. 4,800.
Calculate the amount of insurance claim. [14]
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3. A

(B)
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M/s Maharashtra Investment Trust Ltd. holds on 1-4-2010
Rs. 1,00,000 (cost Rs. 98,000) 6% Govt. of India loan as investment
on which interest is payable on 1st January and 1st July.
The following purchases and sales were made out of these

investments during the accounting year ended 31-3-2011.

Purchases on 1-8-2010 F.V. Rs. 20,000 @ Rs. 102 Cum-Interest
Purchases on 1-12-2010 F.V. Rs. 40,000 @ Rs. 105 Ex-Interest
Sales on 1-11-2010 F.V. Rs. 10,000 @ Rs. 104 Cum-Interest.
Sales on 1-02-2011 F.V. Rs. 30,000 @ Rs. 102 Ex-Interest.

Write up Investment A/c. Investments as on 31-3-2011 are to

be valued at cost by First in First out method. [8]

Ratnamani Ltd. Nagpur has Branch at Cochin to which goods
are supplied at fixed selling price which is 25% on cost. All
expenses of the Branch are met by the Head Office and all
cash received by the Branch is remitted to Head Office only.

From the following transactions relating to Cochin Branch for
the year 2010-11, prepare Branch A/c, Branch Trading and Profit
and Loss A/c for the year ended 31st March, 2011 in the
books of Head Office.

Particulars Rs.
Stock 1-4-2010 (Invoice Price) 60,000
Branch Debtors 1-4-2010 32,000

5 P.T.O.
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Petty Cash 1-4-2010
Furniture 1-4-2010
Goods sent by Head Office (Invoice Price)

Cheques sent for Branch Expenses :

Petty cash 2,400
Salaries & wages 20,000
Rent 12,000

Goods returned to Head Office at Invoice Price
Cash Sales

Cash collected from Debtors

Credit Sales

Bad Debts written off

Discount allowed

Credit Sales returned

Goods sent by Head Office at Invoice Price

but not received by the branch upto 31-3-2011

Shortage in goods at Invoice Price
Branch Debtors 31-3-2011
Petty Cash 31-3-2011

Stock on 31-3-2011 (Invoice Price)

Provide depreciation on furniture 10% p.a.

6

800
20,000

5,00,000

34,400
4,000
52,000
3,20,000
3,48,000
4,000
3,200

4,800

20,000
800
48,000
1,600
1,40,000

[14]



4, From the following prepare :
(1) Crop Al
(iz) Livestock Alc.
(iii) Profit & Loss A/c for the year ended 31-3-2011 and

(zv) Balance Sheet as on that date.

Particulars Debit Credit

Rs. Rs.

Stock (1-4-2010)

Livestock 12,000
Crops 8,000
Feed 400
Farm House Expenses 480
Crop Expenses 4,000
Livestock Expenses 11,000
Livestock purchases 5,000

Salaries and Wages :

Farm Labour (Crop) 2,000
Manager’s Salary 2,400
Legal Fees 1,200
Office Expenses 400
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Staff Meals 200
Sundry Expenses (Livestock) 320
Repairs to Machinery 800
Repairs & Maintenance (Livestock) 200
Interest on Loan (Crop) 1,200
Cash in Hand 5,600
Sundry Debtors 16,000
Tools & Implements 600
Sheds (Livestock) 200
Farm Machinery 44,000
Land & Building 80,000
Sales :
Livestock 30,000
Corn 14,000
Provision for Depreciation 16,000
Manager’s Personal Account 200
Sundry Creditors 2,000
Bank Overdraft 1,800
Loan 20,000
Capital 1,12,000
1,96,000 1,96,000
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Adjustments :

(1)

(2)

(3)

(4)

(5)

(6)

(7)

[4069]-302

Depreciate machinery by Rs. 200 and charge it to crop

A/c only.
Crop worth Rs. 800 was used for feeding Livestock.

Office expenses and Legal fees are purely Administrative

nature.
Charge 10% of salaries and staff meal to Livestock Alc.

Depreciation on tools and implements is to be apportioned

between Crop and Livestock in the ratio of 3 : 1.

The manager of the farm resides in the Farm House as Free
Residence but chargeable only 1/3 of the Farm House Expenses
and is also entitled to a commission of 5% on profit made

by Livestock A/c before his commission.

Closing Stock on 31-3-2011 were :

Growing Crops Rs. 4,000

Tools and Implements Rs. 200

Livestock Rs. 16,000

Feed Rs. 800 [20]
9 P.T.O.



Or

The following are the summarised Profit and Loss Account and Balance
Sheet to Taj Ltd. for the year ended 31st December, 2010 :

Profit and Loss Account for the Year

ended on 31-12-2010

Particulars Rs. Particulars Rs.
To Opening Stock 1,99,000 | By Sales :
To Purchases 10,90,000 Credit 15,00,000
To Carriage Inward 31,000 Cash 4,00,000 | 19,00,000
To Gross Profit C/D 8,80,000 | By Closing Stock 3,00,000
22,00,000 | 22,00,000
To Operating Expenses 4,00,000 | By Gross Profit B/D| 8,80,000
To Non-operating Expenses 80,000 [ By Non-operating
To Net Profit 5,20,000 Income 1,20,000
10,00,000 10,00,000
Balance Sheet as on 31-12-2010
Liabilities Rs. | Assets Rs.
Capital 4,00,000 Land & Buildings 3,00,000
(40,000 E. Shares of Plant & Machinery 3,60,000
Rs. 10 each) Stock in Trade 1,00,000
Reserve 4,00,000 Debtors 90,000
Profit and Loss 1,20,000 Cash and Bank 1,20,000
Other Current Liabilities 1,80,000 Bills Receivable 2,10,000
Bills Payable 80,000
11,80,000 11,80,000

[4069]-302
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Calculate :

(@) Gross Profit Ratio;

(b) Net Profit Ratio;

(c) Operating Ratio;

(d) Stock Turnover Ratio;
(e) Debtors Turnover Ratio;

(f) Debts to Equity Ratio. [20]
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[4069]-303

T.Y. B.Com. EXAMINATION, 2011
ECONOMICS
(Indian and Global Economic Development)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the comparison of Indian Economy with developed economy
with respect to :
(A) Population
(B) Per Capita Income
(C) Agriculture
(D) Industry. [16]

2. Explain the problems of agricultural marketing in India. Suggest

measures to correct it. [16]
Or
Discuss the achievements and failures of Indian Planning. [16]
3. (A) Explain the concept of Human Development Index. [8]
(B) State the importance of Foreign Trade in Economic Development.[8]
Or
(A) Explain the arguments against privatisation. [8]
(B) State the objectives of International Monetary Fund. [8]

P.T.O.



Discuss the challenges of Liberalization, Privatisation and Globalisation

in the Indian Economy. [16]

Write short notes on (any fwo) : [16]
(1) Role of Small Scale Industries in Economic Development
(2) Private Investment in Infrastructure Development

(3) South Asian Association for Regional Co-operation (SAARC)
(4) Functions of World Trade Organisation (WTO).

(WS ®aial)

q% : A\ A TR T : 80

ol — (i) Wd YA STeRgs IR

1.

(i) SoEhele 3 YUl U SFiferdrd.
({ii) WSWHIS T SUSH WIAUCART el

IR AdFaed=t fomfaq srdoeremft qdle qeai=n R godl &4
(31) TrREE

() <ERE 39
(%) IIat
(8) EM. [16]

IRAIS e foashicqaeddio THe T . TR g1 FHUIEEl UM

LS [16]
fepar

TR ST weeRm=t == S [16]
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8. () umdr fowm ezl Hoheddl T . [8]

(&) faezht =R onfdfe fowmrde wea . [8]
feRar

(31) wrerieuren foliet geiare & [8]

(%) emawsdE Ao fAee S . [8]

4, YRAY FITEEING TR0, TISAINHO F SRR JEio el ==

EX [16]

5. Woowh SR gFex foar fowr [16]
(1) o9 Erm= offYer fommnde  fie
(2) UEd gfau fasEdie @il Taeueh

(3) cfeqo TR URfe wWewE Hued (W)

(4) SINTfder oM9R GEe=t &
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T.Y. B.Com. EXAMINATION, 2011
AUDITING AND TAXATION
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define the term ‘Audit Programme’. State its advantages and

disadvantages. [16]

2. How would you verify the following ? [16]
(@) Goodwill
(b) Share Capital
(¢) Investment
(d) Trade Creditors.
Or
What is a company auditor ? Explain the rights and duties of an

auditor. [16]

3. State the provisions regarding the residential status of an

individual. [8]

P.T.O.



Or
Mr. Sohil owns two houses which he occupied for his own residence.
He submits the following particulars in respect of houses for the

financial year 2010-11.

Particulars House A House B
(Rs.) (Rs.)
Fair Rent 2,72,000 1,72,000
Municipal Valuation 2,60,000 1,60,000
Standard Rent 2,76,000 1,66,000
Municipal Tax paid 26,000 22,000
Insurance Premium paid 24,000 Nil
Repairs 50,000 60,000
Interest on Borrowed Capital 1,60,000 80,000
Date of Construction Completed Sept. 2000 March 2001

You are required to compute taxable income from house property

for the assessment year 2011-12. [8]

4, (a) Mr. Sham is a manager working in Reliance Company, Mumbai.
He has submitted the following information of salary for financial
year 2010-11. Compute his taxable income from salary for the
AY. 2011-12.

(1) Basic Pay Rs. 60,000 p.m.
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(2)

(3)

(4)

(5)

(6)

(7)

(8)

9)

(10)

(11)

(12)

(13)

(14)

D.A. 45% of basic salary (Not admissible for retirement
benefits)

Medical Allowance Rs. 7,000 p.a.

Helper Allowance Rs. 5,000 p.m.

Entertainment Allowance Rs. 1,000 p.m.

Employer and his own contribution to the Recognised
Provident Fund is 13% of basic salary.

Interest credited to R.P.F. at 12%, was Rs. 60,000.
Commission received Rs. 30,000.

He has been given a gift in cash of Rs. 10,000 on his
birthday by the employer.

House Rent Allowance Rs. 5,000 p.m. He paid Rs. 7,000
p.m. rent for his residence.

Hostel allowance Rs. 400 p.m. Mr. Sham has one son
studying in college.

He has been provided with a car 20 H.P. by his employer
for both official and private purpose. The running and
maintenance expenses including driver’s salary paid by
employer.

He has been provided gardener and cook. The salary
paid to them Rs. 7,000 p.m. and Rs. 6,000 p.m. respectively.
He paid Professional tax at Rs. 2,500 p.a. [16]

3 P.T.O.



(b) From the following particulars, compute the business income

of Mr. Ranjeet, for the assessment year 2011-12 :

Profit and Loss A/c
Expenditure Rs. | Income Rs.
To Salary 1,00,000 | By Gross Profit 2,00,000
To Advertisement 20,000 | By Dividend 40,000
To Reserve for By Bad debts Recovered
Income Tax 15,000 (allowed earlier as

To Rent and Taxes 18,000 deduction) 60,000
To Repairs 12,000
To Depreciation 20,000
To Wealth Tax 10,000
To R.D.D. 15,000
To Donation to College 16,000
To Legal Expenses 11,000
To Net Profit 63,000

3,00,000 | 3,00,000

Other Information

(1) Repairs include Rs. 6,000 as repairing to the residential house.

(2) Allowable amount of depreciation as per Income Tax Act is
Rs. 15,000.

(3) Legal expenses for business purpose. [8]

5. Mrs. Bharti, working in Bharat Forje Ltd., Pune has furnished the
following details of her income for the year ended 31-3-2011 :
(1) Basic salary Rs. 60,000 p.m.
(2) D.A. 40% of basic salary (Considered for retirement benefits)

(3) Transport Allowance Rs. 800 p.m.
[4069]-304 4



(4)

(5)

(6)

(7)

(8)

9)

(10)
(11)

(12)

(13)
(14)

House Rent Allowance Rs. 8,000 p.m. She paid a rent
Rs. 9,000 p.m.

Personal medical bill of Rs. 20,000, were reimbursed by the
employer.

Her contribution to the company’s R.P.F. is 12% of salary.
The company contributes an equal amounts.

She has self-occupied property. She had borrowed Rs. 6,00,000
for acquisition of the house. During the year she has repaid
Rs. 40,000 as principal, Rs. 30,000 as interest on loan.
Gifts in kind Rs. 10,000 given by her employer.

Medical Insurance premium on the health of dependent mother
(aged 68 years.) Rs. 22,000.

Income from business Rs. 2,25,000.

During the previous year she made the following Investment
and Payment :

Payment of LIC Premium Rs. 60,000

Deposited Rs. 50,000 in State Bank of India as fixed deposit
for six years.

Donation to approved trust Rs. 30,000.

She received :

Interest on Government Securities Rs. 18,000

Interest on bank deposits Rs. 10,000
Income from unit of UTI Rs. 20,000.
She paid professional tax Rs. 2,500.

Tax deduct by company (T.D.S.) Rs. 50,000 from her income.

Compute the taxable income and tax liability for the Assessment

Year 2011-12 of Mrs. Bharti. [16]
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(WS ®qial)

9% : dF ad THUT TOT : 80
ol :— (i) WA WA STaEdd .
(i) SSEl®ele Fh YU U i
(iii) 3MRIsh ST TUS W34Sl Teral.
1. 3TheU HEGHATE A 9. A wEe-die | [16]
2. UWoe TEM 90T wY w6 ?
(31) FESRIR
() YEas
(h) e
(8) =URT 20 [16]
ferar
HYAT AheH WIS HE ? KU ThIHRTE THh o hasd T H. [16]
3. Afwden Tomlt cSiEad=n WEEl W< & 8]
ferar

st Aifes A=1 W= AohET 9 Uedl R 3Ted. offdes 9§ 2010-11 =i
=T S 3Tl Hifsdt qele gl fGoer TR

qAUINS W-A W-B

(%) (%)
EISCIIRISS 2,72,000 1,72,000
TRUTGRT  dTS 2,60,000 1,60,000
JHI e 2,76,000 1,66,000
TRUSRT Y e 26,000 22,000
fom sw oo 24,000 Nil
[KasigkCT] 50,000 60,000
TRATUT FHeloRle AT 1,60,000 80,000
Elca el 1M NEE < 2000 o= 2001
T A SRR W 2011-12 AT FUOREY QA 3@ wel.  [8]
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4. (a)
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A @M T gog Afio Rodd :uime] Jaeads TeeR SRkd SR,

D STt a9 2010-11 AT Wi ST TR 3R Eois
Afedl fodt MR = hY SRR o8 2011-12 HE HIAT  IA-

(1) g2 T 60,000 % T.H.

(2) WerE w1 45% Hes wm=Al (Fasit @vmedt w1 @)
(3) JEfRd 9= 7,000 %. At
(4) HEaftg Y= 5,000 % <.H.

(5) TEIYEH 9l 1,000 & TH.

(6) A o TN A=EAUE WfTafad He W= 13% oo
WISl TR

(7) A=A qfeed faie e 12% 4 60,000 ® ST ST
R,

(8) WM 30,000 % o %

(9) W= FTefca-iaT Hiowrhed 10,000 T = @ % fHaed
R,

(10)=RYIE 9™T 5000 ¥ ©H., d F=N U SEE 7,000 T W

AT
(M) TEfTe w1 400 TH. #f I9M I wiow A9 Reum 1@
& 3R

(12) AT = HIGhhed 20 SHRFKN &Hdl &R HEAGHE o

o )

fordsh ATUEE fod! 3R, SEYel B, Sl WIRYE

I "ok hHdld.
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(13) M Al 9 WAkt [Uaod 8lg. &l 3Tsd 7,000 & 8.

AT 6,000 ¥ TH TN fo Sl

(14) Tt 2,500 . AIftieh TAHE HY WA IR

[16]

(b) WIle Afeden mER o s 99 Y faRo g9 2011-12 9

°¢|°|H|¢|I“I|§t'la hiHlA  SH  onlal

AwRIAIETISh
ECE] &, | A L
TR 1,00,000 | @IeIe3 T 2,00,000
EIFG] 20,000 | ST 40,000
3T IS e 15,000 | I Fs TGS
qe 9 I 18,000 | (Y& A Hexeh) 60,000
el @ 12,000
HERI 20,000
Ut T 10,000
TR ShelErel e 15,000
CACENICTRAL Kl 16,000
CARERIRCE] 11,000
Fedes T 63,000
3,00,000 3,00,000
ESReLES
(1) Tef @t 78 6,000 T TSl TREN Geehd oTR.
(2) SEHR FEATER AR FEHRT 15,000 T 3R
(3) FEGEMN Y FATEAEE ol IR 8]
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5. oimdl WRAt A A9Rd ®S fe, g0 AT wRERT YT 31-3-2011 A A

fal

SR W Afaw) Wifsdt qele ymmn Gt s

(1) Y2 WM 60,000 T TSI

(2) ¥R /1 40% Yoo UFUeR (g ormndl amey)

(3) dRgH WAl 800 T CIHE

(4) T Aowhe] fHelos ™9 W« 8,000 % TRl YA M
9,000 ¥ TIHEl W W& 3R

(5) OFieh O WEieAl WUE Ul HioeM 20,000 % T TR

(6) TN TWa: "W« wfosy frafe fdm wmren 129 oot wiaa

9 Hioh dderd WhH A1 MEd  9dK.

(7) A=A HIGH T WM B STEA @A 7 3R BRET Sl 6,00,000 F.

el HAe YT A HES 40,000 ¥ F HNMURI 30,000 & WAhS
EaCIC 8

(8) WM WEHH 10,000 & = Ao @ R

(9) TIFT STEEl Rl HEFeH fad 8wl 22,000 ¥ WA ARA aF

68 If IR

(10) FAHEMETE 3A= 2,25,000 T

(1) A =g JEiAsd Tele d9u® o GFRAT fodr TR
Siteq foHT RT 60,000 %
W2 o ok Ifeqn dhd Hed 3F WIAW 50,000 T 6 SSTRUd!
SIS R,

T fored 999 <Ot 30,000 T
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(12) < fHede &hH

R Tdlydl e A 18,000 %.

sfeh SAleUS AN 10,000 T

A =AM FHE UETeAr I 20,000

(13) A FIEE HL 2,500 T WA IR

(14) STH AR AT Sd HL 50,000 & FHUC Dl R

AT R Ae w-THERT a6 2011-12 9 THU RAE SAA T HGAd

$Ial [16]
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T.Y. B.Com. EXAMINATION, 2011
BUSINESS ADMINISTRATION
Paper II
(Human Resource Development and Marketing)
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— Al questions are compulsory.

1. What is ‘Career Planning’ ? Explain the objectives of Career
Planning. [16]

2. Answer the following questions (any one) : [16]

(A) Explain the importance of Motivation. Explain the techniques
of Motivation.

Or
(B) Explain the importance of Advertising.

3. Answer the following questions : [8x2=16]
(A) Explain ‘Selection Process’.
(B) What is ‘Human Resource Information System’ ?
Or
(A) Describe the importance of Global Marketing.

(B) What are the objectives of ‘Packaging’ ?

P.T.O.



4, What is ‘Market Segmentation’ ? What are the types and advantages
of Market Segmentation ? [16]

5. Write short notes on (any {wo) : [2x8=16]
(1) ‘Appeals in Advertising’
(2) Types of Recruitment

(3) Difference between Human Resource Management and Human

Resource Development

(4) Marketing research.

(WS ®aial)
q% : o\ A Tepot o1 ¢ 80

oM :—Td T STeRIE 3.

1. Rfhe fESH ®BoN ™ ? SRfee SR fese T = [16]
2. YEIo WA SN AW (FUEE Th) [16]
(31) AN meE T &Y. SIRmEen fafay 93 g
fepar

(9) Sfeldi A W& H.

3. Tdo WA SW ;W [8x2=16]

(31) froe ufewar & Tohoum T &AL

(9) AIFIS FaEAMd Hifgd! Yool WUS & ? == S
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fepar

fal

(31) SMfdes/A=E faguae deca faoie &4

=

(F) =it R e wq

4. INIRUS TIUTTRI0/ TSR0 RS hF ? SSRUS YN YR 9 HRR
TS HA [16]

5. 9w du o' (FveEE @|) e [2x8=16]
(1) feudidie fafayg  qEmRA

(2) wHIM Wwa fafay gaRr

(3) HFEA THYH HOIEAYH d HEd GOEH fohE Ao W

(4) WNRUS TENEA.
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Time :

[4069]-306

T.Y. B.Com. EXAMINATION, 2011
BANKING AND FINANCE
Paper II
(Financial Markets and Institutions in India)

(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Money Market. Explain the structure and characteristics of
Indian Money Market. [16]

2. Explain in detail the role of Financial System in Economic

Development. [16]
Or
Explain the structure and characteristics of Indian Capital
Market. [16]
3. (A) Explain distinction between Non-Banking Financial Companies
and Commercial Banks. [8]
(B) Explain in detail the working of mutual funds in Indian Capital
Market. [8]
Or
(A) Explain the working of Small Industrial Development Bank of
India. [8]
(B) Explain the different Post-Office Small Saving Schemes. [§]

P.T.O.



4, Explain the functions and progress of Unit Trust of India. [16]

5. Write short notes on (any fwo) : [16]
(1) Factoring
(2) Merchant Banking
(3) State Industrial Development Corporation

(4) Life Insurance Corporation of India.

(WS wUIaR)
q% : o\ A TR T : 80

ol — (i) Wd WA STeRgs IR
(i) SSE®Ele Fh YU U i
({ii) WSWHIE T SUSH WIAUCAR] gTel.

1. AT oared fogl. U™ Aee F1 o diETe TR hq. [16]

2. onfer fokrara foxflm gondi=t often wfoem s . [16]
ferar
YR Wiede o=l @ o dRTs T K. [16]

8. () d% FguRER faxda T 9 AN ok AMie e T . [8]

(F) YR 9isde dNNdie WER e & gfoe o . [8]
ferar
(31) URAE wE=an fohm dad wRUSd TR H. [8]

(9) U sifremdie fafay sed s=a dioHifosel Aifedl s 0. (8]
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4, 9RdE gMe T S 9 Wl 'R R [16]

5. dieqd four fogr (@@ @F) [16]

(1) 3TSd FABR

(2) Yheg el SfhT
(3) T fEfes faem HeMewm
(4) 9RdE YA AeMEa.
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[4069]-307

T.Y. B.Com. EXAMINATION, 2011
BUSINESS LAWS AND PRACTICES

Paper II
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. State the nature and scope of The Employees State Insurance Act.

Explain in brief the benefits entitled to employees as per Employees
State Insurance Act, 1948. [16]

2. Define wages as per the Payment of Wages Act. Explain the Authorised

deductions from the wages under Payment of Wages Act, 1936. [16]

Or
State the nature of the Special Economic Zone Act. State the features
and problems of Special Economic Zone Act, 2005. [16]
3. (A) State the powers and functions of Securities and Exchange
Board of India (SEBI) regarding control over stock exchange. [8]
(B) State the method of the fixation of minimum rate of wages
as per The Minimum Wages Act, 1948. [8]

Or
(A) State Constitution and Functions of Central Board as per Employees
Provident Funds and Miscellaneous Provision Act, 1952. [8]
(B) State the provisions regarding contravention and penalties as

per Foreign Exchange Management Act, 1999. [8]
P.T.O.



4, Explain the provisions of the Factories Act, 1948 relating to health

of the workers in the Factories. [16]

5. Writes short notes on (any fwo) : [16]
(@) Composition of Competition Commission (Competition Act, 2002)
(b) Dealing and Holding of Foreign Exchange (FEMA, 1999)
(c) Salient features of the Minimum Wages Act, 1948
(d) Licensing and Registration of Factories [Factories Act, 1948§]

(TS TUI)
q% : o\ A THU T : 80
ol :— (i) |d WA STeRIH SR
(i) ISEIhele 3 U U SFifadm.
(iii) WSWIHE Hes TUSH YRl gl

1. SUId T f99 FEca™ %9 9 A 90 Rl 59 f9m e,

1948 TER HAARAM <0 AR @ TR HA [16]

2.  9aq SN0l WS HREI, 1936 JER AGAEl A WEH  RETAT A

HXAT AUEAT AHSRA HU TR A [16]
fepar

fog onffer & wMEr, 2005 A wWEY G fowRw onfdd & wrcETR

IR I TEEN @ [16]

3. (31) YRIE W IRER FEEm Sauweead aRdE gfagd s fafma
S (V) SR o wF | [8]

(9) foruam o9d9 *rERl, 1948 JUR fhAA aaq HR=d swtvar=i ggd
T [8]
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fepar
(31) wUat ofgsy frafe feft @ s R &R, 1952 < Hfg
et = emfor & grm. [8]

o o

() wWifra faftma ooz wE- (BHE), 1999 <A HESH™  SeouH

anfor <21 SEde Wgal 9. 8]

4. Gl <h[I<T, 1948 JHI RGNS BT ARSI d{gﬁﬁl oqed

EX [16]

5. dieqd four fogr (@@ @F) [16]
(1) o A=l WA (W ®EEl, 2002)
(2) Thg Tod" FFER MU Whd Iod UR &0 (HH, 1999)

(3) foam a9 wEer, 1948 = AT

(4) HREEME WIH o Sicoiteradeal ISl (FREMT ST, 1948)
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[4069]-308

T.Y. B.Com. EXAMINATION, 2011
CO-OPERATION AND RURAL DEVELOPMENT
Paper II
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Co-operative Management ? Explain the nature and objectives

of Co-operative Management. [16]

2. Explain the measures to overcome the defects in Co-operative

Management. [16]

Or
Define Decision-making. State the importance of Decision-making in
Co-operative Management. [16]
3. (A) Explain the powers of Registrar of Co-operatives. [8]
(B) State the problems of Co-operative Administration in
Maharashtra. [8]

Or
(A) State the responsibilities of Co-operative Auditor. [8]
(B) Describe the characteristics of Financial Planning. [8]

4, Define Financial Management of Co-operatives. Explain the nature

and importance of Financial Management of Co-operatives. [16]

P.T.O.



5. Answer the following questions (any two) : [16]
(1) Enumerate the duties of a Co-operative Auditor.
(2) Explain the nature of Co-operative Audit.
(3) Explain the various sources of Finance to Co-operative.

(4) Explain the need of Financial Control in Co-operatives.

(W& T UIR)

q% : o A THU T : 80
o :— () WA WA Hisfau ofemds .
(i) SedikeEle 3k qu o i,

1. TEh] SHILAIAE] SARed 9. Tehil o W%y 1o 3fese T

. [16]

2. HEHRN FRAUAS Q¥ G HUIMEE AGSH IUFANH T 6. [16]
fepar

‘frofar Soart s’ Al Smen 9. (ol el Smen 9rm). "eshrl

FERATI O - e 0T Ao 9. [16]

3. (31) WEHR Foyadm IfveR = & [8]

(9) TRNME HehR-FIEd S | [8]
fepar

(37) TEHR @l IR STeeRE §i. [8]

() fafva-feeeet afits foe w0 [8]
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LAV S o

4. Tehr Taftd el =me |, Ueshrl fafay e[ W&y S

g W H. [16]

5. WG AT IW AW (FUNE EE) e [16]
(1) weh{t oen gReerr= wded foRe 1.
(2) WEHER @ IR WEY W A
(3) weshnr fafay fafwa @@ (9rf) @@= &

o o

(4) wEHrmy fafta-fEsomr ™S T &1
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Time :

N.B. :—

1. (a)

[Total No. of Printed Pages—7
[4069]-309

T.Y. B.Com. EXAMINATION, 2011

COST AND WORKS ACCOUNTING

Paper II
(Overheads and Methods of Costing)
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80
(i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
(iizt) Use of calculator is allowed.
State whether the following statements are True or False : [5]

(1)

(2)

3)

(4)

(5)

A Dblanket overhead rate means a single overhead rate

for the entire factory.

Machine hour rate is not suitable for absorption of overheads

if the work is done mainly by machines.

When actual overheads are less than the absorbed overheads,

it is the case of over-absorption.

No amount of profit is taken to the profit and loss account

in case a contract is less than 25% complete.

Realizable value of abnormal loss is credited to process

account.

P.T.O.



(b)

[4069]-309

Fill in the blanks : [5]

(1)

(2)

(3)

(4)

(5)

The allotment of whole items of cost, to cost centers

or cost units is called as....c.cceeueen..n. .

..................... overheads vary in the same proportion in

which output changes.

Where the actual loss in a process is less than the anticipated
loss, the difference between the two is considered to
be..ooeeieiie, .

When profit if 25% of the selling price of a job, it is

equal to................. % of its cost price.

........................ is that form of operation costing which applies

where standardized services are rendered.

2. What is Activity Based Costing ? Why is it needed ? Explain the
term “Cost Driver”. [15]
Or
Explain various methods of ascertaining cost.
3. Write short notes on (any three) : [15]
(a) Features of Service Costing
(b) Abnormal gain in Process Costing
(c) Cost plus contract
(d) Joint products and by-products
(e) Work-in-progress in contract costing.

2



4. (A)

X Ltd. has 3 production departments and 2 service departments.

The following is the budget for the month of March : [15]

Particulars Total Production Service
Departments Departments
A B C D E

Indirect Material (") 800 2000 | 900 400 | 200

Indirect Labour () 1500 | 1600 [ 1300 | 350 | 1900

Factory Rent 10,000

Electricity Charges 7,100

Depreciation 6,000

Supervisor’s salary 3,200

Additional Information

Area (sq. ft.) 800 | 1,000 | 900 700 | 600

Light points 15 35 8 7 6

No. of Employees 5 15 6 4 2

Asset Value () 30,000 | 15,000| 5,000 | 4,000 |6,000

Machine Hours 1,000 | 2,000 | 1,000 | — —

[4069]-309 P.T.O.




A technical assessment of the apportionment of expenses of

service departments is as under :

Service Department | A (%) | B (%) | C (%) | D (%) | E (%)
D 20 50 20 — 10
E 10 30 40 20 —

You are required to find out Machine Hour Rate of production

departments using repeated distribution method.

(B) Calculate : [5]
(a) 'Total passengers carried
(b) Total kilometers covered and
(¢c) Total passenger—kilometers from the following

information.

Number of buses 6

Number of days operating in a month 25

Trips made by each bus per day 8

Distance covered 20 Kilometers (one side) 20

Seating capacity of bus

Capacity utilized

[4069]-309
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80% of seating capacity



5. (A

(B)

[4069]-309

Mr. X undertook a contract for ° 5,00,000 on 1st dJuly,
2009. On 31st March, 2010 when the accounts were closed,

the following information was available : [10]
Material issued to site 55,000

Direct expenses 6,000

Wages paid 20,000

General overheads 25% of wages
Site office cost 25,000

Plant 2,00,000

Direct expenses prepaid at the end 1,000
Materials at site at the end 5,000
Cost of work uncertified 20,000
Cash received =~ 2,00,000 being 80% of work certified.

The plant was installed on the respective date of the
contract and depreciation is to be provided at 10% p.a.

Prepare Contract Account.

A product passes through two processes. The output of process
I becomes the input of Process II and the output of Process II
is transferred to warehouse. The quantity of raw materials

introduced into Process I is 20,000 kg. at ° 10 per kg. The

5 P.T.O.
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cost and output data for the month under review are as

under : [10]
Process 1 Process 11

Direct materials ° 60,000 40,000

Direct labour ° 40,000 30,000
Production overheads ° 39,000 40,250
Normal loss 8% 5%

Output (kgs.) 18,000 17,400

Loss realization °/kg. 2.00 3.00

The company’s policy is to fix the selling price of the end
product in such a way as to yield a profit of 20% on selling
price. Prepare Process accounts and determine the selling price

per kg. of the end product.
Or

From the following data calculate the operating cost per running
mile. Also calculate rate per mile if undertaking plans to earn

a gross profit of 20% on the freightage :

Mileage run (Annual) 15,000 miles

Cost of vehicle 5,00,000



Road license (Annual) 17,500

Annual Garage Rent 19,500
Salaries of Staff (Annual) 38,000
Driver’s wages per hour 30

Cost of fuel per litre 50

Miles run per litre 20

Repairs and maintenance 5.00

Tyre allocation per mile 4.00
Estimated Life of wvehicles 1,00,000 miles

Charge interest 15% p.a. on the cost of vehicle. The vehicle

runs 20 miles per hour on an average.

[4069]-309 7
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T.Y. B.Com. EXAMINATION, 2011
BUSINESS STATISTICS
PAPER 11
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i)
(i1)
(ii1)

All questions are compulsory.
Figures to the right indicate full marks.

Use of calculator and statistical tables is allowed.

1. (A) Attempt any four of the following : [2 each]

(@)
(b)

(c)

(d)
(e)

()

State additive property of Poisson distribution.
Give any two real life situations where binomial distribution
can be used.

Calculate :
10

p3 + 702.

F p =06, EX) = 6, find n and var(X).

Suppose A and B are independent events with P(A) = 0.4
and P(B) = 0.3, find P(A u B).

State whether each of the following statement is True
a False :

(i) Union of events A and its complement is an impossible

event.

(z1) Under certain situations, binomial distribution can be

approximated by Poisson distribution.

P.T.O.



(B)

Attempt any two of the following : [6 each]

(a) Given P(A) = 04, P(B) = 0.7, P(A n B) = 0.2, find :

(b)

(c)

@) PA)
(1) PA v B)
(izi) P(A/B).

Let X be Poisson variate with parameter m.

3
If PIX =5 = E PIX = 4], find
(1) Mean and SD of Poisson variate
) PX = 0)
(i) PX > 2)

Find the optimal order quantity for a product for which

the price breaks are as follows :

Quantity (q) Unit Cost (Rs.)
0 <q <500 Rs. 10

500 < q <750 Rs.9.25

750 <q Rs. 8.75

The monthly demand for the product is 200 units, storage

cost is 2% of the unit cost and cost of ordering is Rs. 100.

2. Attempt any two of the following : [8 each]

(@)

[4069]-310

Explain :

(2)

Sample space

(ii) Complement of an event

(iii) Independence of two events

(iv) Conditional probability of an event.

2



(b)

(c)

[4069]-310

(i) A random variable X has the following probability distribution :

X PX = x)
1
0 10
1
! 5
3
2 10
2
3 5

Obtain mean and variance of X.

(i) The probability of hitting a target in any shot is 0.2. If
10 shots are fired, find the probability that the target
will be hit at least twice.

The joint probability distribution of (X, Y) is given below :

X
v 1 2 3
1 2k 2k 2k
2 k 3k k
3 3k k k

Obtain :
(z) The value of -

(i) Marginal probability distribution of X and Y
G PX + Y < 3)

(lv) PX > 2).
3 P.T.O.



3. Attempt any two of the following : [8 each]

(@)

(b)

(c)

[4069]-310

(2)
(it)
(2)

(i1)

(2)

(i1)

Explain the procedure of stratified sampling.

State properties of normal distribution.

An oil company claims that 20% of the automobile owners
buy brand A gasoline. Test this claim at 5% level of significance
if the random check indicates that 58 of 200 automobile
owners buy brand A gasoline.

A group of 50 men and 60 women was asked to indicate
their preference between two brands of perfume. The results

are as below :

Sex | Brand A Brand B
Men 20 30
Women 10 50

Using 5% level of significance, test the hypothesis that
the preference for a particular brand of perfume is not
related to sex.

Let X be random normal variable with mean 100 and variance
64. Calculate :

1) X < 110)

(2) P88 < X < 108)

Explain the terms critical region and two types of errors

in testing of statistical hypothesis.

4



4, Attempt any two of the following :

(@)

(b)

[4069]-310

[8 each]

Fill in the blanks of the following ANOVA table marked “—”.

Source of Degrees of | Sum of | Mean Sum | Variance
Variation Freedom | Squares | of Square Ratio
Between Salesman 3 42.0 — —
Between Months 2 91.5 — —
Error 6 82.5 — —
Total 11 216

Also test at 5% level of significance.

(2)

(i1)

(2)

(i1)

Whether the sales made by different salesmen differ
significantly.

Whether the sales made during different months differ
significantly.

In a population of size 5 the values are 1, 2, 4, 5, 8.
Draw all possible samples of size 2 using SRSWOR. Verify
that sample mean is an unbiased estimator of population
mean.

Given :

ny =9 ng =11, 3X = 96, IY = 165, IX? = 61.52,
Y2 = 73.26.

At 5% level of significance, test equality of population

variances.

5 P.T.O.



(¢) () A manufacturer claims that each box of mixed nuts, he
sells, contains an average number of 10 cashew nuts. A
sample of 15 boxes of these mixed nuts had an average
of 8 cashew nuts with SD of 3. Should we reject the
manufacturer’s claim at 5% level of significance ?

(ii) Explain the terms : estimate and estimator.
5. Attempt any two of the following : [6 each]

(a) The following results are obtained in a stratified sampling :

Stratum No. Stratum size Sample size Observations

in a sample

I 300 5 17,13, 15, 20, 20
IT 150 4 28, 30, 27, 25
I11 50 2 50, 60
Estimate :

(i) Strata means
(ii) Population mean
(iii) Population total.
(b) In a normal distribution, 31% of the items are under 45 and

8% over 64. Find mean and SD of the distribution.

[4069]-310 6



(c)
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A certain stimulus administered to each of the 12 patients
resulted in the following increase of blood pressure :

5, 2, 8 -1, 3, 0, -2, 1, 5, 0, 4, 6.

Can it be concluded that the stimulus will, in general, be
accompanied by an increase in blood pressure ? Use 5% level

of significance.



Total No. of Questions—5] [Total No. of Printed Pages—3
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T.Y. B.Com. EXAMINATION, 2011
BUSINESS ENTREPRENEURSHIP
Paper II
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Write a detailed note on objectives and working of MITCON. [16]

2. State how small enterprise management is different from corporate
management with reference to personnel management and financial
management. [16]

Or

State meaning, symptoms and causes of Industrial Sickness. [16]

3. (A) Explain the importance of Break-even analysis. [8]
(B) Write a note on critical path method (C.P.M.). [8]

Or
(A) State the sources of non-institutional finance for small
enterprise. [8]
(B) Describe the success story of Cyrus Driver, Calorie
Care. [8]

4, Explain in detail various business crises. [16]

P.T.O.



5. Write short notes on (any fwo) :
(1) Seed capital scheme
(2) Creativity and innovation
(3) Market survey

(4) Turnaround strategies.

1. =0 ST 9 HE&eER Jgar ad ol

[16]

80

[16]

2. OEESEAN FAEUH T B FaeIEHel e od € HHERl SHaeT

9 fod oAl ey Usd W &

fepar

SiEifiTen  sTeYum=n o1 |AE =N oW oifl ®RY |EM.

3. (A UHAfGg fo=cd fRowR we@ W= &
(B) Sog "M Ugdlek  (CPM.) dW feml
feRar

(A) TISENMEE SO ST Wiedo™ &d % &

(B) URRH TEER-FSU SR = |/IMED quF FH.

4. fafgy =gEgiae U Gl W S
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diedd dq WO (FUEE qE) [16]
(1) S veas e

(2) fAfddt enfor e-fafHdt

(3) SIRUS dre

(4) YAEEGA  SEU.
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Total No. of Questions—35] [Total No. of Printed Pages—3

[4069]-312
T.Y. B.Com. EXAMINATION, 2011
MARKETING MANAGEMENT
Paper II
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define Marketing Management. Explain functions and responsibilities

of Marketing Management. [16]

2. What is consumer behaviour ? Explain factors influencing consumer

behaviour. State need for studying buyer behaviour. [16]
Or

Define Market Segmentation. Explain criteria and Approaches of

Segmenting the Market.

3. (A) Explain social responsibilities of Marketing Manager. [8]
(B) Discuss Recent trends in Retail Marketing. [8]
Or
(A) Discuss social criticism of Marketing.

(B) Explain International Marketing Planning.

P.T.O.



4.  What is Industrial Marketing ? Explain Industrial Marketing Strategy
and Industrial Marketing in Globalised economy. [16]

5.  Write short notes on (any two) : [16]
(A) Recent trends in Social Marketing;
(B) International Marketing for Developing Country;
(C) Digital wave in Marketing;

(D) Trends in Retail Formats.

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

M :— () T WA Grefau STeRds SR

(iii) WSUEEd 3 TUSH UEUrehl Ugrel.

1. fIqUM ey WIS k1 ? oYU oAl i 9 Seleer] TR
. [16]

2. URH I WUS HE 7 UEH GdAER JHE UEUR e HEA W@ e

3:[9-¢IIHIt{'\I HlAZdehdl S nl]. [16]
ferar

ISRUS  TIUN{IRLom=l saea ol dNiRUS favmiiehtome s o STT9RYd

dcen MBS ohd].
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3. (30)
()

(37)
(%)

foqUM AT HHISh  SeeeRl T 6.

ol foaurrdie snyfrer Yamerl ==l .
feRar
faquErEeR  gromeen | fest == &AL

N

FUs fauuAre e T &AL

[8]

[8]

4.,  3iENfTe faUUE =S S ? SIfdeh R Lo Haea stdereeddie steifites faqum

g e foquHel e TR w9

5. dewd four foer (@ 9F)

(37)
()

()

(®)
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qHtSeh  foauArdie  sTyfTe  ga@
faraiie wmeikar Ay fauum

TSN

fesiies fauuEdie ¢t @R

AN o [aV [a

frianis fasl G YR,

[16]

[16]



Total No. of Questions—35] [Total No. of Printed Pages—3
[4069]-313
T.Y. B.Com. EXAMINATION, 2011
AGRICULTURE AND INDUSTRIAL ECONOMICS
Special Paper II
(Agriculture and Industrial Economics)
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is agricultural productivity ? Explain the causes of low agricultural

productivity in India. Suggest the measures to improve it. [16]

2. Discuss the achievements and failures of land reforms in India. [16]
Or

State the types of agricultural labours. Explain the causes of

unemployment in agriculture. [16]

3. (A) Explain the importance of agricultural processing in India. [§]
(B) Explain the broad features of industrial growth since 1991. [§]
Or

(A) Describe the institutional sources of agricultural finance. [§]

(B) Explain the drawbacks of public sector industries in India. [§]

P.T.O.



4, Explain the progress and problems of power generation industries
in India. [16]

5. Write short notes on (any fwo) : [16]
(1) Problems of agricultural processing in India
(2) Role of IFCI in industrial finance
(3.) Arguments against privatisation

(4) Engineering industry in India.

(WS ®aia)
q% : o\ A Tepot o1 ¢ 80

oAl :— (i) ¥d WA EEds  STed.

1. AT SARHdl WS kI 2 YRAE Il 3cdeshdl hHl STHUITE  hIul

IS Y. IRl S IUITES 3 G, [16]

2. YRAMIG SHA-GYURU RSN ATRT= == hA. [16]
feRar

TAAS TR EFT. 3G SRISFIRE $RO T & [16]

3. (¥) YUMo ICHEIE Yfhal SN Hee T . 8]

(F) 1991 U SiENfTe gEE Ik ARTS T . [8]
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fepar

(37) P foqaca™ wmms e fRE . [8]
(9) YRAdie HeESie  O9die SR o T . [8]
4. YOG He AfHdr SErmer Wt onfur e Tee &L [16]
5. dew@ four four (foed@ @m) [16]

(1) 9RAdie  IdEe fhan STUNT=A GHE
(2) oiefe fouReacde WRdE oiRlfe "Aemeart (JFCD  yffe

(3) @R foaeg I

(4) 9RArde AR I
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[4069]-314

T.Y. B.Com. EXAMINATION, 2011
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Paper II
(Defence Production and Management in India)
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]
(1) Define strategic control.
(2) Explain the meaning of ‘Threat perception’.
(3) Write any two challenges to Defence Management.
(4) What do you mean by integrated defence ?
(5) Define logistics.
(6) Write the meaning of development.
(7) Write any two aims of defence public sector.
(8) State the meaning of industrial policy resolution.
(9) Define war potential.
(10) Write any two functions of logistics planning
(11) Write any fwo methods of war finance.
(12) Write the full form of DPSU.
(13) Define defence budget.

2. Answer in 50 words each (any two) : [10]
(1) Explain structure of defence production department.
(2) Discuss principles of logistics management.
(3) Explain organisational aspects of decision making.
(4) Discuss problem of private sector in defence production.

P.T.O.



3. Answer in 150 words each (any fwo) : [20]

(D)
(2)
(3)
(4)

Explain concept of defence Vs. development.
Discuss political aspects of defence production.
Write a note on the Industrial Policy Resolution of 1947-48.

Write a critical note on Defence Public Sector undertaking.

4, Answer in 300 words each (any fwo) : [30]

(1)

(2)
(3)
(4)

Write a note on the relationship between economy and
war.

Explain weapons procurement policies in India since 1947.
Write a note on logistics management for Indian defence.

Explain decision making process for defence in India.

(WS ®aial)

d9% : o a™ THUT 7T : 80
o :— () Wd WA Giefan semde o,

(i) SSElhSle 3k O TFife.

1. & 20 IT=E[ SN W (FUAE <@ e [20]

(D)
(2)
3)
(4)
(5)
(6)
(7)
(8)
9)
(10)
(11)
(12)
(13)

[4069]-314

qmies s =men =

gl Hehoudl Ad TS
U TRl oF AR foTel
s=hee fevy wN @@ ?

SRECIC S| L Ml £ | M B

foepreen a1 fomal

fehd Ueoish ToRd g e o
3ENfiTr  dRUTen E WU & ?
I5 emal oIed .

eI C IS CE B E RIS I B O I b Ol T
AR EEAES 8 Usdl TS
SdTHyg. 9 Y weu fom

T 3T ATl .
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2. TR 50 M OSW A (HUE QF) [10]

(1) T IqeA faumm=l AT W .

(2) TYES HAOAr=AT deart ==
(3) fTla THRdie d¥edas Iq = &

(4) TP IORAMSG UHege R THEEed =<9 .

3. T 150 I=[ SN W (HOME qE) e [20]
(1) o onfor o adie falavaEeae S6eddl T &
(2) TRV SARAEEdE IS U ded 9= S
(3) 1947-48 =n Wefite  dRumerEdEn @ AR feuur e
(4) feo@ UHF JRX ASWHT AR fewrms feum fomr.

4. W 300 I=M SW W (HOME  IE) [30]
(1) deEn ofn g 9= waumeR feoqur fomn
(2) 1947 UGT YR ITSE Jdddedd gRU TR S
(3) YRAreN WENY Eel Fewud AR fequ e
(4) YR WU Heuldie U™ g s &
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[4069]-315

T.Y. B.Com. EXAMINATION, 2011
INSURANCE, TRANSPORT AND TOURISM
Paper II
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Define privatization ? Explain the effects of privatization on Life

Insurance Business. [16]

2. State and explain the various documents and forms of Life

Insurance. [16]
Or
State and explain the various regulations of Insurance Regulatory
and Development Act, 1999. [16]
3. (A) Take review of Income Tax Act. [8]
(B) Explain the role of Insurance Agent in Insurance
Business. [8]
Or
(A) State the objectives of Life Insurance Act, 1956. [8]
(B) Explain the regulations of Insurance Act, 1938. [8]

4, Explain the importance and claim settlement procedure of General

Insurance. [16]

P.T.O.



5. Answer the following questions in brief (any two) : [16]
(1) Explain the conditions of General Insurance Contract
(2) Describe the saving plans of Insurance Business
(3) Explain the objectives of General Insurance Business
(Nationalization) Amendment Act, 2002

(4) Explain the rules of payment of General Insurance.

(TS TUIR)
q% : o\ A THU T : 80
o :— () Wd WA Giefan sewds o,
(i) STERSl® 3Tk WA qU U SFifodm.
1. ‘T’ e 9 ? Ao SAaEEel. Wi SR aiRemm
e HA. [16]

2. SgfmN fafgy T@les (FFRUS) AT A W &% HA. [16]

feRar

1999=n fam s sufn fae srca fafay fm 9@ s

. [16]

3. () 399 L HFEET (Income Tax Act) @ET = [8]

(o) fom gaumEmE fom gfafqei=n  fiser s % 8]
feRar

(31) 1956=A A =l g | [8]

() 1938w foaml wrEEme faH = S [8]

o o

4., gauER fa=E wea oMfu Jhdd WU fHesfavarl erfugdt T
. [16]
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5. Wolo WAl diedd W ow (el d@e) [16]
(1) IR faq R 318 W .

(2) fom =geERET=N dEden ANl R &AL

[a

(3) 2002=1 FAHHRU fomT @@ (USATRIO) YUROT = e

oZ .
(4) IR foemt 99 Qv Hewidie fom s &L
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[4069]-316
T.Y. B.Com. EXAMINATION, 2011
COMPUTER APPLICATION

Paper II

(RDBMS, Networking, Internet and E-commerce)

(New 2008 PATTERN)

Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

1. @A)

(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

Consider the following table and solve the following queries

(any four) : [8]

Student (sno, sname, sadd, sfee, sclass)

(1) List the student details whose class is “TYBCOM’.

(i) List the student name and address in ascending order.

(iiz) List the student details whose fees greater than
1000.

(iv) List the student name whose last letter is ‘R’

(v) List the student details whose address is ‘Pune’ and class
is ‘SYBCOM'.

P.T.O.



(B) Write syntax and use of the following commands (any four) : [8]
(1) Desc
(i) Insert
(iii) Alter
(iv) Create

(v) Revoke

2. Attempt any four of the following : [16]
(i) Explain the components of DBMS.
(ii) Explain the Financial EDI.
(iit) Write a note on Cursor used in PL/SQL.

(iv) Explain joint application development model in web

Process.

(v) Write a short note on E-mail.

3. Attempt any four of the following : [16]
(i) Explain Entity Relationship Diagram.
(i1) Explain the advantages of RDBMS.
(iizr) Explain computer network with its goals.
(iv) Explain the Secure Electronic Transaction (SET)

(v) Write a note on Button and Icon.

4, Attempt any four of the following : [16]

(i) Explain Order and Unordered list tag with example.
[4069]-316 2



(ii) Explain the role of E-commerce.
(iit) Write a short note on Page Type.
(iv) Explain while statement in PL/SQL with example

(v) Write a note on RDBMS ?

5. Attempt any four of the following : [16]
(i) Write a HTML to display the following information :

ABC Big Bazaar Bill Details

Itemno Itemname Qty. Rate | Total
1 Pen 10 5 50
2 Pencil 20 10 200
3 Note Book | 25 5 125
Total 375

(i1) Explain the different Stages of SET (Secure Electronic Trans-
action).

(iiz) What are the use of Entrance and Exit Page in Web ?

(iv) Write note on Cyber law.

(v) Explain different user of DBMS.
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[4069]-317
T.Y. B.Com. EXAMINATION, 2011
BUSINESS ADMINISTRATION
Paper III
(Finance, Production and Operations Functions)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is Finance ? Explain various finance functions. [14]

2. What is Financial Planning ? Explain advantages and limitations of

Financial Planning. [14]
Or

Explain various sources of fixed capital and working capital. [14]

3. (a) State the principles of capital structure. [7]
(b) What are advantages of plant layout ? [7]
Or
(a¢) What are the functions of capital market ? [7]
(b) What are the objectives of production control ? [7]

P.T.O.



4, What is material handling ? Explain various objects and principles

of material handling. [14]

5. Write short notes on (any fwo) : [14]
(a) Responsibilities of production manager
(b) Plant location
(c) Methods of inventory management

(d) Factors affecting supply chain

6. “Indian customer is not adjusted with the mall culture.” Discuss. [10]

(TS TUIR)
q% : d\ A TR T : 80
T — (i) WA WA STeRISR  3TRA.
(i) ISEhele 3 qul IO <Fifaar.
(iii) USIES G TUSH WUl TerEl.

1. foua = s 2?2 foaiy fodia o T . [14]
2. fodim fEom = @@ ? fodie fESAR wRe 9 73k T &4 [14]
ferar

feoR viede 9 Wod Wiede SYRUE faety ARt Tose . [14]

3. (31 veds THEl dd 9. [7]

(9) TRIAA ®ES HOW 7 [7]
ferar

(37) viede ANIET & Hiodr ? [7]

() S fEFumeE Sfeses s ? [7]
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fal

4, @ TAEEUT WIS HEF ? U@ IAeevid fgaiy 337 9 ad e

EX [14]

5. dieqa four fogr (@@ @F) [14]

(31) IARH HALAYRTAT STl

() A E (plant location)

() AR FIEAIAT=AT  dgdl
(8) YEE HEEER URUM FIOM HEh

6. ''Uc TThdRl YA Ued THed odl A"’ == & [10]
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[4069]-318
T.Y. B.Com. EXAMINATION, 2011
BANKING AND FINANCE
Special Paper III
[Banking Law and Practice in India)
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the precautions in payment of customers cheque. [14]

2. What is Project Appraisal ? Explain the various aspects of Project

Appraisal. [14]
Or
Explain broad provisions of Banking Regulation Act as applicable
to Co-operative Banks 1965. [14]
3. (@) Define cheque and explain its features. [7]

(b) Explain the difference between Bill of Exchange and Promissory
Notes. [7]

Or
(¢) Explain the principle of secured advances. [7]

(b) Explain the bankers obligations of secrecy of account. [7]

P.T.O.



4, What is mortgage ? Explain the types of mortgages. [14]

5. Write short notes (any two) : [14]
(1) Banker as trustee and agent
(2) Capital and Reserve Fund
(3) Features of Negotiable Instruments

(4) Non-legal measures of recovery.

6. Discuss the impact of globalization on Indian Banking System. [10]

(TS TUIR)
q% : o\ A THU T : 80
g — (i) WA WA STeRIS:  3TRA.
(i) ISEhele 3 qul IO <SFifaar.
(iii) TEuidIdl HB TUSH WUl UgrEl.

1. UEhTAT FARITET R 3] HIdMEl AN bS] T . [14]

2. Yohod HOHHIOH TWUNS kA ? Yohed HodHIAA fafay oy HiowR ww

EXA [14]
fenar

Sfeht] 99 FREGHIEAR §EHRI Ml O] FOAEESH 1965 =T HACATA

TS T AL [14]

3. (31 oIRITEl AR U WEl GRTe 'R & [7]

() fafmaos 9 g=A9s Idie ®e 9fas T & [7]
fenar

(31) gfaqa ARMET T T & [7]

LN

(F) URHEA WA= TAdHeHde dhaiie 98 HfgwR e 3. [7]
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4. TEO WUS & ? TEUTE YRR TR H. [14]

5. dewd du feg (FRudE @) [14]
(1) % TH fowem onfon wewy

(2) oieds 9 UEig faer

(3) WHTIHSEE B0
(4) Hoogorea R HEGEIR SUHHSHL

6. SIMTfAeh I ToM=l - YR AhYUMool Socdl  IRoma=t == . [10]
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[4069]-319
T.Y. B.Com. EXAMINATION, 2011
BUSINESS LAWS AND PRACTICES
Special Paper III
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is meant by tax ? Explain the principles of taxation with

characteristics of a Good Tax System. [14]

2. What is Excise Duty ? Explain the basic conditions of Excise Duty.
Explain the persons liable to pay Excise Duty. [14]
Or
Explain the following terms : [14]
(a) Transaction value
(b) Concept of Service Tax
(¢) Meaning of Customs Duty

(d) Meaning of Baggage.

P.T.O.



3. A

[4069]-319

A manufacturer has to supply a machinery on the following

terms and conditions :

(@)
(b)
(c)

(d)

(e)
)

)

(h)

You
(@)
(b)

Price of machinery Rs. 3,40,000 (net taxes and duties)
Machinery erection expenses Rs. 26,000

Packing (normally done by him for all machinery) : Rs. 4,000
Design and drawing charges relating to manufacture of
machinery Rs. 30,000 (Net of taxes and duties)
Central Sales Tax @ 4%

Central Excise Duty @ 16% plus education cess of 2%

plus SAH education cess of 1%

Cash discount of Rs. 5,000 will be offered if full payment

is received before dispatch of goods

The machine will be supplied along with bought out accessories

@ Rs. 8,500. The accessories were optional.

are informed that :

The buyer made all payment before delivery.

The manufacturer incurred cost of Rs. 1,200 is loading

the machinery in the truck in his factory.

These are not charged separately to buyer. Find the ‘Assessable

value’ and the Duty payable. [7]

2



(B)

(A)

(B)
4. (A

[4069]-319

Ms. Priya rendered taxable services to a client. A bill of
Rs. 40,000 was raised on 29/4/2009. Rs. 15,000 was received
from a client on 1/5/2009 and the balance on 23/5/2009. No
service tax was separately charged in the bill. The questions
are:

(a) Is Ms. Priya liable to pay service tax, even though the

same has not been charged by her ?

(b) In case she is liable, what is the value of taxable services

and the services tax payable, if service tax rate is 10%

plus education cess as applicable. [7]

Or
Explain the meaning and general highlights of the CENVAT
Scheme. [7]

Explain the provisions in respect of concession to SSI. [7]
A trader supplies raw material of Rs. 1,150 to processor. Processor
processes the raw material and supplies finished product to
the trader. The processor charges Rs. 450, which include
Rs. 350 as processing expenses and Rs. 100 as his (processor’s)
profit. Transport cost for sending the raw material to the factory
of processor is Rs. 50. Transport charges for returning the
finished product to the trader from the premises of the processor
is Rs. 60. The finished product is sold by the trader at
Rs. 2,100 from his premises. He charges VAT separately in
his invoice at applicable rates. The rate of duty is 16% plus
education cess as applicable. What is the assessable value, and
what is total duty payable ? [7]

3 P.T.O.



(B) From the following particulars arrive at the VAT liability for
the month of January, 2010 and also determine the amount
of input tax credit to be carried forward for the next
month :

(i) Input tax rate 5% and output tax rate is 15% in the
state.

(ii) Inputs purchased in the month from within the state
Rs. 48,00,000

(iiz) Output sold to buyers within the state during the month
Rs. 15,00,000

(iv) Output sold to buyers as inter-state sales Rs. 3,00,000.
(CST rate 2% against C form)

(v) Inputs purchased from other states as inter-state purchases
against C form @ 2% Rs. 2,00,000 (Provide suitable
explanations where required with appropriate assumptions
if necessary). [7]

5. Write short notes on (any fwo) : [14]

(a) Distinction between direct and indirect tax

(b) Classification of goods

(c) Salient features of levy/charge of service tax

(d) Distinction between Sales Tax and VAT.

6. Classify the taxable services and explain the provisions of valuation

and determination of service tax. [10]

[4069]-319
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(WS wUIaR)
q% : o\ A THU T : 80

ol :— (i) ®d WA ANEE  sTRd.
(i) SoEher® 3k qui O SFifer.

1. T BN ®E O GF H AGRROTE T ST GARE Y TG e
7. [14]

2. UG I[oh WIS HE d G IARA IR SRS TR SV

3 TR H. IART I VAR I (liable) STHURAT SAfRi= Hifed

= [14]
feRar

EAG GhHeqdl T Y

(37) oA @R YA (Transaction value)

(F) FaT HUET HohoTHl

(%) wWHEehRe 319 (Customs Duty)
(8) ofemEn 314 (Meaning of Baggage).

3. (3) UG® P SARH AUeHl IFAEEEE Sl Hdl [7]
(@) T fROd 340,000 % (Fede = onfn  IToehrEld)
(b) IARARTH @E 26,000 .
(¢c) @MU (packing) @F 4,000 ¥ (T IAESI IAGH TH Hl)

(d) TR= @Sl @9 30,000 .

(e) W\eFadl fasml = @ 4%
[4069]-319 5 P.T.O.



(B)

(37)
(¥)
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() TEEd AR ok @ 16% 3w 2% o AR @ 1%

ISR STFYIR.

(g) I3 uRfauvaren oneft ¥d feua e 5000 % W@ Haww.

(h) AT = STAFTER Saeard 8,500 &. U= fhaa (Iq4m
).

(31) ©RSehdl FAErgIaSfaTarer et qul fhHd ST .

(9) IOCHH TFAH THAA FTEfauaEEe 1,200 ¥ ©E ho 3k

(GRERRHST @aAull g @4 4o Hhoo A-d)

i@ AIfgd=a STHR FISTRRON oI M I 3ok oF WhH I

o= eTaea e P (Taxable) ¥@1 TfEA. 40,000 & < TH
g% (bill) T 29-4-2009 s e, fe. 1-5-2009 & @Rt 15,000 %

foers enfon SOt WA fo. 23-5-2009. @ fHeordl. @ Far o

T TR TMHRSH A=l
(31) T9 Hare Sl 1F 3 1 2 (S fd9 1 SThRel 9
).

(F) S @ T R I U IS W hWE Hod oI
G h@ (ReTR 10% fE Fefes AfguEda $TR). [7]

feRar
CENVAT J5H=1 319 W T Hg T H. [7]
@Y IAMl THesu=a  Haodie qRqel T . [7]
6
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4. (1) YfeImE@ AR 1,150 T 7 hoadie GRiddl. Ffwarhdal gfhar wed
TR Ul ANA@ Qfddl. JEet dfedarehdl 450 . SThRdl. A1
W 350 T URRA @ oM 100 T W HRR AEl GHGET SR
gfsharhcdial hedl Wi USfauaEel B T dRde @d ddl. ST
TR A AT YEfIUaEEl 60 ©. aRdeh @ Idl. AT ThRMT
FOE TR WS 2,100 T feuden fowdl U <gs@ @ VAT
AT MR, I X 16% ok el oifyvR el oM W
A HUE oI k@ MU Fefle ok HREd . [7]
(d) wrole Hifedrea STER VAT SRRl Jod SHed 2010 9t =
®U M0 Yl AfgAErdt fohdl WehH=l X =] (carry forward)
HE FTendl
(i) Input HX T 5% 3 output X T 15% (THCD)
(i) TAHATG WS Hod TS 48,00,000 .
({ii) TR foweem @@ 15,00,000 3.
(jv) TETR fadkod A 3,00,000 % (CST T 2%)
(v) TERET VGl Hoal "o 200,000 & (CST @ 2%) (7]
5. few = (wmcE 9 [14]
(@) YAH MU AT HIHHS Hleh
(b) T TR
(c) fommmu=n AR
(d) fomeRt snfor VAT #Hifie &
6. HIAH oA AR KA M FerhRT SUquATAT ST oI WS TR

[10]
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[4069]-320
T.Y. B.Com. EXAMINATION, 2011
CO-OPERATION AND RURAL DEVELOPMENT
Paper III
(Co-operative Marketing Management)
(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is meant by consumer co-operatives ? Explain the need and

objectives of consumer co-operatives. [14]

2. Define Marketing. Explain the scope and importance of
Marketing. [14]

Or
Define Marketing Research. Explain the scope and steps involved

in marketing research.

3. (A) Write a brief note on Dairy Co-operatives.
(B) Explain the advantages of Primary Co-operative Consumer
Stores. [14]
Or
(A) Explain the main provisions of Agricultural Produce Market
(Regulation) Act, 1963.

(B) Write a brief note on Agricultural Co-operative Processing.

P.T.O.



4, State in detail the functions and objectives of NAFED (National

Agricultural Co-operative Marketing Federation of India). [14]

5. Answer the following questions (any two) : [14]
(1) Enumerate the objectives of Agricultural Produce Marketing
(Development & Regulation) Act, 2003.
(2) State the importance of marketing strategy in co-operatives.
(3) Describe the organisational structure of NAFED.
(4) State the objectives of Agricultural Produce Market (Regulation)
Act, 1963.

6. Explain the problems of Agricultural Produce Market Committees. [10]

(W& T UIR)

q% : A A TEHUT T ;80
o :— (i) §d W disfau seRds R
(i) SoEheEle 3w ol U eFifaa.

1. TS TR TN WIS S 7 UEd Hehll TREl TR ST SEe
W H. [14]

2. ‘foom=n’ s @i faqeomel S onfun Hed™ TR A [14]
fepar
‘fgaror gieAT=R’ Smen | faawer "Iyl st smfor faaw
WA TS JIUMT= 99 (steps) TI &
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3. (3N '‘FEHR-TY G AR diedn feu fomn
(9) WafHs Feprl Uesdh TP (stores) HES TR H. [14]
fepar

(31) 19631 Hf IqA SR  (FIHAIHS) FESH=A GHE Tl T

< .

~

() ‘"Hert Hfu g ST’ AR dieda feu fomn

4. ‘9Thedl’ (National Agricultural Co-operative Marketing Federation of

India) %@ onfor I FiowR® G [14]

5. W ARl SWoa (RAE de) [14]

(1) 2003=4 & Iq9 R (fawm onfr famArHs) St g
fore =+

(2) PN WS fqmu-FggEne "7e @ 9@n.

(3) TTHhe<l HueAHe TIAT faRIE .

(4) 19632 FHW IqA IR (FEUTTE) FREa=l I G

6. TN IUA IR GHATN THET TR FH [10]
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Total No. of Questions—?5]

Time :

N.B. :—

1. @A)

(B)

[Total No. of Printed Pages—4
[4069]-321
T.Y. B.Com. EXAMINATION, 2011
COST AND WORKS ACCOUNTING
Paper III
(Costing Techniques and Cost Audit)
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

(itzi) Use of calculator is allowed.

Fill in the blanks (any five) : [5]

(i) Material yield variance is a part of ..............cooeeiiilll
variance.

(ii) Inter-firm comparison is not possible without ..........................
costing.

(T10)  ereeieeeeeeeeeeeeeeaes cost is the cost that can be incurred
while still earning the desired profit.

(€27)) IO NUURRN includes propriety and efficiency audit.

(v)  The .o, budget is a forecast of production
for the budget period.

(vi) A higher P/V ratio indicates ........cccceeeennn..... profitability.

State whether the following statements are True or False

(any five) : [5]

(i) Budget preparation is a planning function.

(i1)

All variable costs are included in marginal cost.

P.T.O.



[4069]-321

(ii1) Cost Audit Report is submitted to the shareholders of
the company.

(iv) Uniform costing promotes rivalry among the participating
units.

(v) Standard costing is an expensive technique.

(vi) Target costing results in decrease in profitability of

the firm.

2. What is uniform costing ? Explain the requisites for installation of

a uniform costing system. [15]
Or

What is Inter-firm comparison ? Explain the requisites for installation
of a scheme of inter-firm comparison.

3. Write short notes on (any three) : [15]
(a) Advantages of Target Costing
(b) Cost Audit Notes
(¢c) Cost Accounting Standards
(d) Rights and Duties of Cost Auditor
(e) Cost Audit Programme.

4, (A) A Company Ltd. furnishes you the following data for the two

periods : [15]
Period I ® Sales ° 7,00,000 and Loss ° 10,000.

Period II ® Sales ° 9,00,000 and Profit ~ 10,000.
Calculate :

(i) P/V Ratio



(B)

5. (A)

[4069]-321

(i1) Fixed Cost

(itzi) Break-even Point

(iv) Sales required to earn profit of ~ 40,000.

(v) Profit when sales are ~ 20,00,000.

From the following information calculate : [5]
(z) Labour Cost Variance, and

(i) Labour Rate Variance.

Actual Hours = 100 Standard Hours = 90

Standard Rate = ° 10  Actual Rate = =~ 10.50.

Standard labour hours and rate for production of article ‘A’

are given below : [10]
Worker Hours Rate per hr. (°) Total ()
Skilled 5 30 = 00 150 = 00
Unskilled 8 10 = 00 80 = 00
Semi-skilled 4 15 = 00 60 = 00

290 = 00

Actual data for the production of 1,000 units of articles is

as under :
Worker Hours Rate per hr. (°) Total ()
Skilled 4,500 40 = 00 1,80,000 = 00
Unskilled 10,000 9 = 00 90,000 = 00
Semi-skilled 4,200 15 = 00 63,000 = 00
3,33,000 = 00
3 P.T.O.



Calculate :

(@)
(b)
(c)

Labour Cost Variance
Labour Rate Variance

Labour Efficiency Variance.

(B) From the following information compute : [10]
(i) Material Cost Variance
(it) Material Price Variance
(iit) Material Usage Variance
(iv) Material Mix Variance.
Material Standard Actual
Qty. (units) | Price () Qty. (units) | Price ()
A 40 10 20 35
B 20 20 10 20
C 20 40 30 30
80 60
Or
From the following information compute : [10]

(2)

Material Cost Variance

(it) Material Price Variance
(iit) Material Usage Variance
(iv) Material Mix Variance.
Material Standard Mix Actual Mix
X 70 kgs. @ ° 20 per kg 60 kgs. @ ° 20 per kg
Y 30 kgs. @ ° 40 per kg 50 kgs. @ * 50 per kg
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[4069]-322
T.Y. B.Com. EXAMINATION, 2011
BUSINESS STATISTICS-III
Special Paper III
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :— (i) Attempt All questions.
(i1) Figures to the right indicate full marks.

(ztzz1) Use of calculator and statistical tables is allowed.

1. (A) Attempt any four of the following : [2 each]
(a) Explain the term ‘most likely time’ in PERT.
(b) Determine whether there exists a saddle point in the following

two person zero sum game

Player B

€-2 -3u

Pl A ; :
ayer ¢ 12 gl

(c) State any four elements of queuing theory.
(d) State whether each of the statement given below is True
a False :
(1) If stock in hand is less than demand, then there exists
opportunity loss.
(ii) The distribution of arrival rate is exponential.

(e) State any two applications of replacement problem.

(f) State Simpson’s 3 rd Rule from numerical integration.

P.T.O.



(B)
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Attempt any two of the following :

(a) Evaluate the following :

(i) (§r°- 4x+2)da [2]

(i1) (‘)x2 log x dx 4]

(b) Solve the game with the following pay-off matrix by using
the principle of dominance : [6]
Player B

B; B, By By
Ay .—5 3 1 10
Player A A, 5 5 4 6

A |4 2 0o 5

(c) Given the following pay-off matrix :

Strategies States
N, N, Ng N4
Sy 4 4 4 4
So —2 8 8 8
Sg -8 2 12 12
S4 -14 —4 6 16

Determine the optimal strategy under :

(1) Maximax

(zi)  Maximin

(iit) Laplace criteria

(fv)  Hurvitcz criterion with coefficient of optimality

(c)= 0.8. [6]



2. Attempt any two of the following : [8 each]

(@)

(b)

[4069]-322

A cost accountant is asked to set up a system for controlling
waste in a department converting role of paper in sheets. The

bounds of waste are recorded by sheet for a 10 days in three

shifts
Sample No. Mean Range
1 101 26
2 117.33 24
3 110 18
4 102 26
5 78.33 6
6 93.33 20
7 111.67 19
8 105 15
9 89 12
10 109 27

Construct control charts for mean and range. Also comment
on whether the process seems to be control.

(n = 3, Ag = 1.023, Dg = 0, Dy, = 2.575)

A road transport company has one reservation clerk on duty
at a time. He handles information of bus schedules and make

reservations. Customers arrive at a rate of 8 per hour and

3



(c)
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the clerk can service 12 customers on an average per hour.

Under assumption of queuing theory, find :

(i) Average number of customers waiting for the service of
the clerk.

(i) Average number customers in a queue.

(iit) Average waiting time of customer for the service of the
clerk.

(iv) Probability that the reservation clerk is idle.

(v) Probability that a customer has to wait before he gets
service.

Fill in the blanks of the following life table which are shown

with the question marks :

Age (x) 41 42
L, 42605 41534
d, ? —
a0y ? _
Dy ? _
L, ? _
T, ? 976049

? ?
4



3. Attempt any two of the following : [8 each]
(a) Explain the following terms :
(i) Two person zero sum game.
(i) Decision under certainty.
(iiz) Assignable causes
(tv) Distributions used in queuing theory.
(b) The following table gives the activities in a project and other

relevant information :

Activity Duration
1—2 3
1—3 5
1—4 4
2—5 2
3—5 3
3—6 7
4—6 9
5—17 8
6—7 9

Find earliest start, earliest finish, latest start, latest finish,
total float, free float and independent float for each activity.
Also find critical path.

[4069]-322 5 P.T.O.



(c) Confectionary sales items with passed data of demand per week

with frequency is given below :

Demand per week Frequency
0 2
5 11
10 8
15 21
20 5
25 3

Consider the following sequence of random numbers :
35, 52, 90, 13, 23, 73, 34, 57, 35, 83.
Using the sequence, simulate the demand for next 10 weeks.

Use Monte-Carlo simulation method.

4, Attempt any two of the following : [8 each]

(@) (I) Evaluate :

4 3

. 12x°+4
1 dx

03x +4x + 2

2

(IT) Compute :

6

I= 6x2 +1) dx
0

using Simpson’s gth rule. Divide the interval [0, 6] into

6 equal sub-intervals.
[4069]-322 6



(b)

(c)

5. Attempt any two of the following :

(@)

[4069]-322

A project has the following activities and other characteristics :

Activity Time Estimates

t, t tm
1—2 6 24 6
1—3 6 18 12
1—4 12 30 12
2—5 6 6 6
35 12 48 30
4—6 12 42 30
5—6 18 54 30

(i) Draw the project network and calculate the length

and variance of the critical path.

(ii) What is the probability that project will be completed

within 80 days ?

(I) Explain the following terms :

(1) Tolerance limits

(ii) Process capability index.

(II) Distinguish between control chart for variables and attributes.

State the purpose of np-chart.

[6 each]

Machine was purchased at Rs. 12,500. The scrap value is only

Rs. 500 for all years. Maintenance cost in the first year is

Rs. 2,000 whereas it is increased by Rs. 300 per year up to

4th year and later on from the 5th year up to 7th year it

increased by Rs. 700 per year. Determine when machine should

be replaced.

P.T.O.



(b)

(c)
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Evaluate :

2

1=y’ + 1) dx

0
by using trapezoidal rule. Divide the interval [0, 2] into 4
equal sub-intervals.
A certain company has to select an machine out of two available,
an old a new. The new machine performs better if the raw
material is of superior quality, while the old machine performs
better with an ordinary quality raw material. Use of superior
quality raw material with old machine results in profit of
Rs. 2,000 and of ordinary quality in profit of Rs. 1,600. Use
of superior quality raw material with new machine results in
profit of Rs. 2,400 and ordinary quality material in profit of
Rs. 800. Probability of availability of superior and ordinary quality
raw material is 0.8 and 0.2 respectively. Draw a decision tree
diagram for the above problem and calculate the Expected
Monetary Value (EMV). Which of the two machines is a better

choice ?
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[4069]-323
T.Y. B.Com. EXAMINATION, 2011
BUSINESS ENTREPRENEURSHIP
Paper III
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What is ‘Personality’ ? Explain the determinants of Personality. [14]

2. Explain the term ‘Leadership’. State the challenges of Indian
Industrial Leadership. [14]

Or
What is ‘Group Dynamics’ ? Explain the factors influencing on group

dynamics. [14]

3. (A) What is ‘Team Building’ ? Explain the difference between Team

and Group. [7]

(B) Explain the meaning of stress and sources of stress. [7]
Or

(A) State the causes of conflict. [7]

(B) Explain the early theories of motivation. [7]

P.T.O.



4. What is ‘Organisational Change’ ? Explain the causes of
change. [14]

5. Write short notes on (any fwo) : [14]
(a) Management by Objectives
(b) Strategies of change and development
(¢c) Conflict Management

(d) Organisational Goals.

6. State the methods of removing stress in new business scenario. [10]

(WS ®aial)
d9% : o a™ TeRuT ot @ 80

1. ‘S’ BWue & ? AlUE OUR SEeh W [14]
2, gt O T HY. ARG STENfieh Al eeem | [14]
ferar

e N

‘gg Tfdeh’ WU &M@ ? HHE Tfddwial GRUMH HOR HEh TR

EX [14]

3. (3 ‘wu HA' wmum ®w@ ? 99 oW 9yg AMLic Wik W
. [7]

(9) domrn w1 9 Sid T H [7]
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fepar

(31) HEHt HRO WA [7]
(&) Afvyiome wufges fagia T &L [7]
4, THAH® I3 WIS HE ? OCHdEl hR0 T . [14]
5. diew@ foor = (FvEmR 9F) [14]

(31) 3E=ER AILATIH

(d) og@ oA foerrars] SHEtE
() HuY SHeETIH

(€) Tueads: 9.

6. T FaEETe WEedid (New Business Scenario) diUl Sl Shidr<l

Tgdl  9rm. [10]
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[4069]-324
T.Y. B.Com. EXAMINATION, 2011
MARKETING MANAGEMENT
Paper III
(Advertising Management)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.

(i1) Figures to the right indicate full marks.
1. Describe economic and social aspects of Advertising. [14]
2. Explain the direct and indirect appeals in Advertising. [14]

Or

Explain the components of Advertising Layout.

3. A
(B)

(A)

(B)

Explain the factors affecting selection of Media. [7]

Explain the significance of Brands. [7]
Or

State the difference between Visualisation and Advertising

Layout. [7]

Explain the future of an Advertising Agency. [7]

4, Explain the advantages and limitations of Advertising as a

Profession. [14]

P.T.O.



5. Write short notes on (any fwo) : [14]
(a) Industrial Advertising
(b) Women in Advertising
(c) Benefits of Brand to Sellers
(d) Corporate Advertisment.

6. Explain the concept of E-Advertising and state the advantages of

educational training in the field of Advertising. [10]
(W& TUIR)
9% : dF a™ THOT 0T : 80

T :— (i) §d T diefau eRds R
(i) SVEhele s Ui U SFifadm.
({ii) USHMEIS He3 TUSH U4l TEmE.

1. Sifeddr=an omfdes 9 S dree 99id . [14]
2. Wfeddidie el offor 3Tyl STaleid  TIsIehiul . [14]
fenar

Sedd A9 "2 T2 .

3. (37) <feUd HiegH=Al Hagial 9Rume iR & T . [7]

(9) WS e TR FH [7]
feRar
(31) T U (visualisation) 3701 el AT AMG ik G [7]

~

(9) fedd Tordd gfaded T & [7]
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4. WfeUd FIEEE R ST HIRl TR R

5. deda fow fom (womEd @)
(37) oieEnfee wifewa

() fetdidie Afee Tam

(%) Teiwa fashemer AT ERR
(8) WEAHE SR

< .
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Time :

N.B. :—
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T.Y. B.Com. EXAMINATION, 2011

AGRICULTURE AND INDUSTRIAL ECONOMICS

Special Paper III
(NEW 2008 PATTERN)

Three Hours Maximum Marks : 80

(i) All questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Explain the advantages and disadvantages of major irrigation

projects. [14]

2. Explain the features of rural economy. [14]

Or

Explain the role of co-operative credit in rural development. [14]

3. (A

(B)

(A)

(B)

Explain the importance of agricultural taxation for developing

economy. [7]

Explain the features of Industrial Policy, 1977. [7]
Or

Explain the progress of poultry co-operatives in India. What

are their problems ? [7]

Explain the measures taken by Government for balanced regional

industrial development. [7]

P.T.O.



4, Discuss the importance of infrastructure in economic development.
State the problems of public sector investment in infrastructure

development in India. [14]

5. Write short notes on (any fwo) : [14]
(1) Small Farmers’ Development Agency
(2)  Multinational Corporations in India
(3) Special Economic Zones in India

(4) Importance of Industrial Policy.

6. State the features of Government of India’s changing approach regarding

Multinational Corporations. [10]

(TS EUIR)
d9% : o9 a™ THOT 0T : 80
M :— () T WA SAeRIR  3TRA
(i) SSElHSle 3k FIA qU U it

1. TN Vofded J&ed™ WRe-dle R S [14]
2. T SfEEEl SRt W & [14]
feRar

Tt faRmEd gkl UdqiecurEl el TR R [14]

3. (31 foruwie A99a®d  Idl HL AHRUIY Hed TR H. [7]
() 1977=M SWENfTeR  dRum=ERT AR TS R [7]
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(31) RO UEhRl hohedlaaal WAl TI6 il A=l HS hIued

DD

Aed ? [7]

(9) wged URRTs oiEife fasame WerT docdl SUREeH T

EX [7]

4. offefe fowmEd dETyd gfawm=an "Agem=l =@l e, vRAdie  qrenYd

gfagr=n fasdie esiTes &5 [qaue=a IHe 9 [14]

5. dieqa fou fogr (o @F) [14]

~

(1) & Iaed fame™ 9o

.

(2) HRAMIe SgUSE U=l
(8) wNdnie foR offes &
(4) oiEfier dRUme Aed.

D

6. TEURE FHUACTTRIST YRd WHR deocdl gRaHN dfiTse . [10]
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T.Y. BCom. EXAMINATION, 2011

DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Paper III

(Defence Budgeting and Financial Management in India)

(NEW 2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—

(i) All the questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 20 words each (any ten) : [20]

(D
(2)
(3)
(4)
(5)
(6)
(7)
(8)
9)
(10)

Define public goods.

Write the concept of ‘Financial Planning’.

State the meaning of Development.

Define war potential.

What do you mean by Deficit Finance ?

State the meaning of strategic control.

Write any two challenges to Defence Management.
State the meaning of ‘Mobilisation of Resources’.
What do you mean by resources for Defence ?
Write the meaning of contributory elements of war.

P.T.O.



(11) State the meaning of ‘Threat Potential’.
(12) Write any two methods of War Finance.

(13) State the long form of G.N.P.

2. Answer in 50 words each (any two) : [10]
(1) Explain functions of Ministry of Defence.
(2) Discuss control and need of Financial Management.
(3) Explain ‘Basic-Macro-Economic’ concept.

(4) Describe Defence Budget structure.

3. Answer in 150 words each (any fwo) : [20]
(1) Explain Economic Theories of Defence.
(2) Discuss Parliament control over Defence Budget.
(3) Explain new trends in India’s Defence Expenditure.

(4) Discuss effects of war on society.

4, Answer in 300 words each (any fwo) : [30]
(1) Explain elements of war potential.
(2) Discuss India’s Defence Expenditure since 1998.
(3)  Write a note on the System of Financial Management in India’s
Defence.
(4) Explain features of India’s Economic System.
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q9% : o a™ TeHUT 0T ;80
T :— (i) T WA diefau eRds R
(i) SoEhEl® 3w ol U eFifaa.

1. TR 20 IR SW SN (FOGE @) [20]
(1) T e — e ol
(2) onfds frmm — a1 fom
(3) fowmrn &1d foml

(4) JS¥Hd — A T

(5) Tewifae ®FAF WIS & ?

6) WH® fREw w|usS wE ?

(7) WU GO e "I fomn

(8) ‘wrEEUNEt faamar’ et fomr
(9) WU WYEEYs et o

(10) IS IR HOM ¥k WIS &M@ ? 4 fol
(11) ‘e deatiere’ 19 fos

(12) & ®EAFREN g4 9gdl TS W

(13) St . b 9 g ey e

2. TR 50 I3[ SW o (g @F) [10]

(1) TIIU HAGAET ki T2 H.

[4069]-326 3 P.T.O.



(2) ‘orfdehr HATATYATEN STERISdl o AT == &

(3) dIfgF-URHI-SHhATHE HUL — W &

(4) TIFU SSTUAhRET =1 dUH H

3. TR 150 I SW o (kg dF) [20]
(1) e fafay nfdes faga T =

(2) WU ICNERET FH¢AT Isomeed 9= .

(3) YRAT=N WU EEiekle ‘7 Ied’ R &
(4) Js& GUNTERIG URUMHEEd == S

4, TR 300 I SW SN (KOG qE) [30]

(1) JS¥Hdd ¥eh T H.

(2) 1998 YTl W& @HEEd ad .

(8) TOEM A% HEAEEs HAsH< 39 TS fe®hd IEx foum
fezat.
(4) WRdreN e ggd TUEH WS R
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T.Y. B.Com. EXAMINATION, 2011
INSURANCE, TRANSPORT AND TOURISM
Paper III
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

1. Define Tourism. Explain the difference between Tourism in India

and Tourism in other countries. [14]

2.  What do you know about WTO (World Tourism Organisation) ? Describe
the working of WTO. [14]

Or
What is International Tour ? Explain the significance of the Planning

of International Tour.

3. (A) Write a brief note on Tour Planning.
(B) Explain the need of Visa for International Tour. [14]
Or
(A) Write a brief note on Tour Accommodation.
(B) State the significance of Effective Presentation Skills in
Tourism.

P.T.O.



4, Enumerate the functions and working of TAAI (Travel Agents Association
of India). [14]

5. Answer the following questions (any two) : [14]
(1) Write a brief note on Tour Packages.
(2) Explain the role of Tour-Operator in Tourism.
(3) Write a brief note on Tourism in Singapore.

(4) Explain the need of Behavioural Aspect for Tourism.

6. What are the facilities available to International Tourist in
Thailand ? [10]

(A0S ®UI)

q% : dF A TEHU T ;80
o :— (i) §d WA diefau TeRds R
(i) SENFE® S U T eFiaa.

1. Rl A 9. YRAie 9ded ST 3R <IN Uded Iie Wit

fre <+ [14]

2. ‘'SWifaek WA Weedl' (World Tourism Organisation) JEES AU 6™
SO ? SETfdeh 9ded WEeAdl dmEAd foRIE @A [14]
feRar

AT A WIS HE 7 AARE  IA-TESHAE 7ed T &

3. (1) ‘I-fEeE’ wer e feu fomn
(9) ST I&dEt  (Visa) foggm=l (31fydd wam) e e
EXA [14]
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(31) ‘gdeh-fam sggren’ TR diesdd feu fomn

(9) TdeAaHed JuEl HEUHIl SR Hed 9.

4. ‘YRadie yag gfafaet deert’  (TAAID & sufo swmfmra fozre

EX [14]

5. OIS WEAE SW W (FOGE |E) e [14]
(1) ‘aEn-Ueey' AR dresa fou fom

(2) WA AA-ARSRET fgenr TS L
(3) ‘fomR wdie wied’ IR diewm fou fom

(4) TSI AU RS (AMTAET T61), TR

6. 'UTTE AH' AWK YdCHMS Hiv gfadr Uesd ka7 [10]
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T.Y. B.Com. EXAMINATION, 2011
COMPUTER APPLICATION
Paper III
(MIS, Software Engineering & Enterprise Resource Planning)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) All questions are compulsory.
(i1) Figures to the right indicate full marks.

(iit) Neat diagrams must be drawn wherever necessary.

1. (A) Attempt any four of the following : [8]
(i)  Write the format of Decision table.
(i) Who is System Analyst ?
(i) What is System Maintenance ?
(iv) Define Business Process Re-engineering.
(v) What do you mean by Supply Chain Management

(SCM) ?
(B) Attempt any two of the following : [8]

(i) Explain the characteristics of Software Engineering.
(ii) Write a note on Data Dictionary.

(iizr) Explain the process model of the organization.

P.T.O.
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2. Attempt any four of the following : [16]
(i) Write a note on ERP.
(ii) Explain Spiral Model in detail.
(iiz) Explain System Implementation Strategies.
(iv) Explain the role of MIS.
(v) Explain the concept of tuning and optimization of software
quality.
3. Attempt any four of the following : [16]
(i) Explain the feasibility study in detail.
(ii) Explain elements of system with example.
(iiz) Explain Output Design with example.
(iv) Explain Value Stream Model of the Organization.
(v)  Explain the concept of Reverse Engineering and Re-engineering.
4, Attempt any four of the following : [16]
(i) Explain the concept of Information and Knowledge in detail.
(i) Differentiate between Interview and Questionnaire fact finding
techniques.
(itzi) Write a note on Information Management in SCM.
(iv) Explain 4GL Approach in detail.
(v) Explain White and Black testing in detail.

2



5. Attempt any four of the following : [16]
(i) Explain MIS and system analysis.
(ii) What is DFD ? What are the different types of symbols used
in DFD ?
(iizi) Write a note on ISO standards.
(iv) Explain System Requirement Specifications.

(v) Explain the concept of Decision tree with example.
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T.Y. B.Com. EXAMINATION, 2011
COMPUTER APPLICATION
Paper V (Vocational Course)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) First question is compulsory and attempt any five from
remaining questions.

(ii) Draw neat and labelled diagrams wherever necessary.

1. What is Network ? Explain LAN, WAN and MAN. [10]
2. Explain in brief the following with syntax and example : [6]
(a) <A> tag

(b) Search engine.

3. Explain IP addresses. [6]

4. Explain the following with example : [6]
(@) VBScript functions

(b) <FORM>

P.T.O.



5. Explain in brief the following with example : [6]
(a) Digital Signature

(b) <Frame>

6. Explain the following : [6]
(a) E-payment

(b) B to B E-commerce

7. Write short note on <Table> tag [6]
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T.Y. B.Com. EXAMINATION, 2011
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT
Paper V
(Sales Management)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. What do you mean by Recruitment ? Explain different sources of

recruitment of salesforce. [12]

Write short notes on :
(A) DMotivation to salesforce;

(B) Methods of remuneration to salesman. [12]

2. What do you mean by sales territory and sales quota ? Narrate

the factors to be considered in allocation of sales territories. [12]

P.T.O.



Or

What do you mean by Public Relations ? State and explain the
tools of public relations. [12]

3. Write short notes on (any fwo) : [16]
(A) Importance of training of salespersons;
(B) Performance Appraisal,
(C) Sales forecasting;

(D) Customer Relationship Management.
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T.Y. B.Com. EXAMINATION, 2011
TAX PROCEDURE AND PRACTICES
(Vocational Course)
Paper V
(Customs Act)
(NEW 2008 PATTERN)

Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Answer in 2A) words each (any five) : [10]
(i) Explain incidence of duty under Customs Act.
(ii) What is meant by Territorial Waters of India ?
(ii1) Explain ‘FOB’ and ‘CIF’ price.
(iv) What is meant by ‘Baggage’ ?
(v) Who is called as ‘Person-in-charge’ ?
(vi) What are the provisions of ‘Red Channel’ and “Green Channel”
at Customs Airports ?
(vii) What is WCO ? What is its object ?

P.T.O.
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2. Answer in 8 words each (any two) : [8]
(1) What is meant by ‘Custom Value’ and ‘Transaction Value’ ?
How are they relevant under Customs Act ?
(2) What are the kinds of rates of Duty-Drawback’ ? How are
they fixed ?
(3) Explain the ‘nature’ and ‘incidence of duty’ under Customs
Act.
(4) What is meant by ‘Custom Stations’ ? What are importance
of custom stations ?
3. Answer in 150 words each (any three) : [15]
(1) What is meant by ‘Bond’ ? Discuss various ‘Bonds’ and their
use under Customs Act.
(2)  What is Bill of Entry ? Discuss various types of ‘Bill of
Entries’.
(3) What is Home consumption and clearance for warehousing ?
(4) Explain Export Procedure by ‘Person-in-Charge of conveyance’.
(5) What is meant by ‘Foreign-going vessel or aircraft’ ?
4, Write answer in 300 words (any one) : [7]
(1) Enumerate classes of officers of customs. What are the powers
of officers of customs ?
(2)  Who is ‘Importer’ ? Discuss procedure for clearance of imported

goods.
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T.Y. B.Com. EXAMINATION, 2011
ENTREPRENEURSHIP DEVELOPMENT
Paper VI (B) (Vocational)
(Computer Application/Advertisement, Sales Promotion and
Sales Management)
(NEW 2008 PATTERN)
Time : Two Hours Maximum Marks : 40
N.B. :(— (i) Al questions are compulsory.
(i1) Figures to the right indicate full marks.
1. Explain in brief the characteristics of an entrepreneur. [10]
Or

Narrate the merits and limitations of sole proprietorship form of

business organization.

2. Explain briefly sources of ideas to start a new business. [10]
Or

What are the functions of M.I.D.C. ?

3. What do you mean by ‘Marketing Management’ ? Highlight its

importance. [10]
P.T.O.



Or

Define the term ‘Human Resource Management’. What is its

importance ?

4, Write short notes on (any fwo) : [10]
(@) Market Survey;
(b) SWOT Analysis;
(c) Marketing Channels;

(d) Stress Management.
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T.Y. B.Com. EXAMINATION, 2011
TAX PROCEDURE AND PRACTICES

(Vocational Course)

Paper VI

(Entrepreneurship Development and Project Report)

(NEW 2008 PATTERN)

: Two Hours Maximum Marks

:— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

Answer in 2A) words each (any five) :

(D
(2)
(3)
(4)
(5)
(6)

(7)

Define an entrepreneur.

State the various types of ownership.

State the basic qualities of an entrepreneur.

What are the stages of an entrepreneurial process ?

Why is entrepreneurship important in India ?

: 40

[10]

What is the importance of entrepreneurial Development

Process ?

State the main aim of Human Resource Planning.

P.T.O.



2. Answer in 8 words each (any two) : [8]
(1) Write a note on “Job description”.
(2) State the specialities of private sectors.
(3) Write a note on “Salient features of Joint Stock Company”.

(4) Write a note on ‘Four P’s i.e. Product, Price, Promotion and

Place. How do they affect on Marketing Functions ?

3. Answer in 150 words each (any three) : [15]

(1) State the various characteristics of an entrepreneur.

(2) Differentiate between an entrepreneur and a professional
manager.

(3) State the various advantages and disadvantages of a sole
tradership.

(4) Write a note on “Articles of Association”.

(5) How are the needs of finance fulfilled by various finance

institutions ?

4, Write answer in 300 words each (any one) : [7]
(1) Define “Market”. What do you know about classification of

markets ?

(2) Describe in detail the theories of entrepreneurship.
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T.Y. B.Com. EXAMINATION, 2011
ECONOMICS
(International Economics)
(NEW 2008 PATTERN)
Time : Three Hours Maximum Marks : 80
N.B. :(— (i) Al questions are compulsory.

(i1) Figures to the right indicate full marks.

1. Discuss in detail the Heckscher-Ohlin’s theory of International

Trade. [16]

2. What is protection trade ? Explain the arguments for and against
Protection Trade Policy. [16]

Or

Explain in detail the gains from trade. [16]

3. (A) State the merits and demerits of flexible exchange rate. [§]
(B) Explain the current and capital account of Balance of

Payments. [8]
P.T.O.



Or

(A) State and explain the Balance of Payments theory.

(B) Explain the India’s Foreign Trade Policy since 1991.

4, State and explain the role of Multinational Corporations.

5. Write short notes on any #wo
(A) Scope of International Economics.
(B) European Union.
(C) Foreign Capital.
(D) Structure of foreign exchange market.

(WS ®aia)

q% : A A TR T :

ol :— () Wd WA defau oTeRdE  SiRd.
(i) IShSle 3k WAE YU O Eifaa.
({ii) TRUMEIS Heo TUSH YSYAhT Ul

[8]
[8]

[16]

[16]

80

1. TFR-3TEfed ar=n oty SARfasTsd fagart afawR ==t 4. [16]

2. W0 FUR BN & 7 GEd UR AR aN e ol JeRiter

W FH.
ferar
AR A gfasR® faewo .
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[16]

[16]



o N

3. (31) “con foma < TU-S™ g 8]
(9) TRRAE=Al ¥ S vieae e fageue & 8]
feRar
(31) =RRdles fagld |FM 9 T & 8]
(F) 1991 Ta=a ARaren foezft SAmARfasEes gReme forowm 4. (8]
4, TEUNE HEHSol el W 9 TR & [16]
5. WOOYHRl HUER  GER diewd dw fed [16]
(31) ST AL AT
(/) T T
(%) fazil wieoe.

(8) faczft fodma <R @&
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